10104}
-210*

-310%}

:—IDL: Mean=

-4¢10*

-110%}

2410}

-4¢10*

LI LA L

T

[Combined
Edcps_auto

[ Shot: 1465

LF,, Fix the

[ DCPS: Meg

Ty T v [T [rrr[rrr[rrr

\Vertical Forces
| ja
14| Param. Tree 142

40527.202

Tree (normal, circular)

\n= -40527.203

[04.1

Lol oo by v by vy by v by by g lay o]

P IS S S S S T

4 -2

0 2 4 6 8
time

LI LA L

T

C[Combined

Edcps_auto

LF,, Fix the

526.1

Lol oy

E
. EShot: 146514
-3+10 :—IDL: Mean=
: Free (post. dis., circ.)

[DCPS: Mean= -34673.617

Ty v [T [rrr[rrr[rrr

\Vertical Forces

Param. Tree 142

34673.617

| PRI ETETETE TSNS T AR BRI

4 -2

0O 2 4 6 8
time

10104}
-210*

-310%}

:—IDL: Mean=

-4¢10*

-110%}

2410}

-4¢10*

LI LA L

T

[Combined
Edcps_auto

[ Shot: 1465

LF,, Fix the

[ DCPS: Meg

525.1

Ty T v [T [rrr[rrr[rrr

\Vertical Forces
| ja
14) Param. Tree 142

46283.017

Tree (normal, shaped)

\n< -46283.018

Lol a1y

| PR R EFET T AT ETAT S BT AT

4 -2

0 2 4 6 8
time

LI LA L

T

C[Combined

Edcps_auto

LF,, Fix the

[27.1

Lol oy

\Vertical Forces
E
. EShot: 146514
-3+10 :—IDL: Mean=
: Tree (post. dis., shaped.)

[ DCPS: Mean= -34365.081

Ty T v [T [rrr[rrr[rrr

Param. Tree 142

34365.080

| PRI ETETETE TSNS T AR BRI

4 -2

0 2 4 6 8
time



5¢10*

410%}

310}

2¢10*

1010}

5¢10*

410%}

310}

2¢10*

1010}

EDCPS: Mean4

T

t Combined
Fdcps_auto
FShot: 1465
LF,, Fix the
E—DCPS: Medg

£ 24.2

EIDL: Mean=

L L B I DL DL LB BB

14

o2

S TR A

|

\Vertical Forces

| ja

Tree (normal, circular)

ue

Param. Tree 142

D312.578

50312.581

M ETETENE VRNV VAT AT AR

-4 -2 0 2 4 6 8

time

T

t Combined

Fdcps_auto

LF,, Fix the

£ 26.2

S TR A

FShot: 146514

EIDL: Mean=

L L B I DL DL LB BB

Ve

NE

5

Tre

rtical Forces

Param. Tree 142
D604.624
2e (post. dis., circ.)

50604.628

|

M EFETENE VRN AT T AT AT AR

-4 -2 0 2 4 6 8

time

5¢10*

410%}

3010}

2¢10*

1010}

5¢10*

410%}

310}

2¢10*

1010}

EDCPS: Mean4

T

t Combined
Fdcps_auto
FShot: 1465
LF,, Fix the
E—DCPS: Medg

25,2

EIDL: Mean=

L L B I DL DL LB BB

14

4

S TR A

|

\Vertical Forces

| ja

Tree (normal, shaped)

ue

Param. Tree 142

y¥068.369

47068.372

M ETETENE VRN AT VAT AT AR

-4 -2 0 2 4 6 8

time

T

t Combined

Fdcps_auto

LF,, Fix the

£27.2

S TR A

FShot: 146514

EIDL: Mean=

L L B I DL DL LB BB

Ve

| ja

5

LEE:

|

rtical Forces

Param. Tree 142
3271.092
2e (post. dis., shaped.)

53271.096

M ETETENE TR TS VAT AT AR

-4 -2 0 2 4 6 8

time



FrIrrrrrrr]

T

410°

3.10%|

[ Combined

T

[dcps_auto

2610}

[ Shot: 146514

EIDL: Mean=

\Vertical Forces

| ja

44030.342

LANLNLI NN LN LN B LN

Param. Tree 142

3l . | :
1010 -_FZ, Fix the [Tree (normal, circular)
EDCPS: Medn= 44030.342
, [ 24.3
-2.10- -l l 111 l 11 l 11 l 111 l 111 l 111 l 11 1
-4 -2 0 2 4 6 8
time
[T I 1T I LILEL I 1T I LILEL I 1T I LILEL I T l:
4t ]
40107 ]
4t ]
310 C 7]

[Combined Ve

[dcps_auto

2610}

[ Shot: 146514

NE

EIDL: Meanz 3

Tre

10¢10°

F,, Fix the

rtical Forces

Param. Tree 142
7948.006

2e (post. dis., circ.)

L DCPS: Medns 37948.006
, [ 26.3
-2.10- -llllllll l llllllllllllllllll-
-4 -2 0 2 4 6 8
time

Frlrrr[r?’ T

T

410°

3.10%|

[ Combined

T

[dcps_auto

2610}

EIDL: Mean=

| ja

[ Shot: 146514

)

LELE DL DL LI L

\Vertical Forces

Param. Tree 142

1205.096

T

3tF,, Fi )
1010 -_FZ, Fix the [Tree (normal, shaped)
L DCPS: Medng 51205.096
, [ 25.3
-2.10- -l l 11 1 l 11 l 11 l 11 1 l 1 1 1 l 11 1 l 11 l-
-4 -2 0 2 4 6 8
time
[T I LI I LI I LI I LI I LI I LI I TT l:
4l ]
4107 .
4l ]
3107} ]

[Combined
[dcps_auto
2¢10%}

[ Shot: 146514

EIDL: Meanz 3

NE

\Vertical Forces

Param. Tree 142

5987.726

10.103 :_FZ, Fix the [Tree (post. dis., shaped.) ]
L DCPS: Medns 36987.726
E27.3
2010 il
-4 -2 0 2 4 6 8

time



0 T I LI I TT I TT I LI I LI I LI I LILEL 0 T I LI I TT I TT I LI I LI I LI I LILEL
4l 4l
-2¢10" ¢ {1 -2¢10t -
4 - 4 -
4010} 1 -4010% ]
'Combined |Vertical Forces ] 'Combined |Vertical Forces
-6¢10* Fdcps_auto| ja . -6¢10* Fdcps_autol ja .
L Shot: 1465[L4| Param. Tree 142 ; L Shot: 1465[L4| Param. Tree 142
-8’104 | IDL: Meanz -98764.306 | -8’104 | IDL: Meanz -95105.792 |
|F,, Fix the [Tre¢e (normal, circular) ] |F,, Fix the [Tree (normal, shaped)
5 'DCPS: Mea_rf -98764.307 1 5 DCPS: Mean= -95105.794 1
-1-10° 1 -110°F _
044 ] L 25.4 ]
-l l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 l- -l l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 l-
-4 -2 0 2 4 6 8 -4 -2 0 2 4 6 8
time time
0 T I LI I TT I TT I LI I LI I LI I LILEL 0 T I LI I TT I TT I LI I LI I LI I LILEL
4l 4l
210" {1 -2¢10t -
4 - 4 -
4010} 1 -4010% ]
‘Combined |Vertical Forces ] 'Combined |Vertical Forces
-6¢10* Fdcps_auto| ja . -6¢10* Fdcps_auto| ja .
L Shot: 1465[L4| Param. Tree 142 ; L Shot: 1465[L4| Param. Tree 142
-8’104 | IDL: Meanz -97061.820 | -8’104 | IDL: Meanz -101323.29 |
'F,, Fix the [Tree (post. dis., circ.) ] 'F,, Fix the [Tree (post. dis., shaped.)
5 DCPS: Mean= -97061.822 1 5 DCPS: Mean= -101323.29 1
-1-10° 1 -110°F L _
L 26.4 ] 27.4 ]
-l l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 l- -l l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 1 l 11 l-
-4 -2 0 2 4 6 8 -4 -2 0 2 4 6 8

time time



3000

2000

1000

3000

2000

1000

T T T T TTT

[ Combined

[ F,, Fix the

[24.5

' BT

:dcps_auto
 Shot: 1465

:IDL: Mean=

[ DCPS: Med

L L B I DL DL LB BB

|

\Vertical Forces
| ja

14

w

Tree (normal, circular)

ue

Param. Tree 142

503.1401

3503.1388

PN ETET AN TR AT T AT AT BT A

-4 -2 0 2 4 6 8

time

T T T T TTT

[ Combined
:dcps_auto
 Shot: 1465
[ F,, Fix the
[ DCPS: Med

[26.5

:IDL: Mean=

L L B I DL DL LB BB

Ve
NE
14
3
Tré

N3

' BT

rtical Forces

Param. Tree 142
P74.3896
2e (post. dis., circ.)

3274.3884

|

PN TR AN AV RN TS T AT AT AR

-4 -2 0 2 4 6 8

time

LI LA L

T T T T TTT

3000

[ Combined

2000

1000

[ F,, Fix the

[25.5

' BT

:dcps_auto
 Shot: 1465

:IDL: Mean=

[ DCPS: Med

|

\Vertical Forces
| ja
14
4922.0798

Tree (normal, shaped)

ue

TT [T T[T rr[rrrrrr

Param. Tree 142

4922.0784

PN ETEN AN VRN T AT AT AR

-4 -2 0 2 4 6 8

time

T T T T TTT

3000

[ Combined
2000
rdcps_auto
 Shot: 1465
1000
[ F,, Fix the
[ DCPS: Med

[27.5

:IDL: Mean=

L L B I DL DL LB BB

Ve
E
14
2
Tré

e

' BT

|

rtical Forces

Param. Tree 142
522.6466
2e (post. dis., shaped.)

2622.6455

PN ETEN RN TRV VAT AT AR

-4 -2 0 2 4 6 8

time



OIIIIIIII T

T

-2+10*
-4+10%

-6+10*

rIDL: Mean=

-8-104 L DCPS: Mean -84557.544 .

| Combined |Vertical Forces
rdcps_auto) ja
| Shot: 146514| Param. Tree 142
84557.543

F,, Fix the [Tree (normal, circular)

TT [T T[T rr[rrrrrr

246
lllllllllllllllllllllllllllll
-4 -2 0 2 4 6 8
time
OIIIIIIIIIIIIIIIIIIIIIIIIIII
4
2107+ i
4
4107+ i
_Combined \Vertical Forces
rdcps_auto| j8
4 | shot: 146504| Param. Tree 142
-6¢107 + i
rIDL: Meanz -712621.623
F,, Fix the Free (post. dis., circ.)
-8¢10%FocPs: Mean=-72621.623 .
[ 26.6
lllllllllllllllllllllllllllll
-4 -2 0 2 4 6 8
time

OIIIIIIII T

T

-2¢10*

-4+10%

rdcps_auto) ja
4 | shot: 1465014
-6°10"

FIDL: Mean= -9

F,, Fix the T

-

[

-8¢10% FocPs: Mean-

256

TT [T T[T rr[rrrrrr

_Combined \Vertical Forces

Param. Tree 142
7488.113
e (normal, shaped)

-97488.114 -

' BT |

P ETET AN TR TS VAT AT AR

4 20

2 4 6 8
time

OIIIIIIII T

T

-2¢10*

410}

rdcps_auto| j8

[ Shot: 1465(14

-6+10*

rIDL: Mean= -7

-8¢10% FocPs: Mean=

(276

'l BPETETE ETEE

_Combined \Vertical Forces

:FZ, Fix the Tree (post. dis., shaped.)

TT [T T[T rr[rrrrrr

Param. Tree 142

1352.806

-71352.807 -

P ETET AN TR TS VAT AT AR

4 -2 0

2 4 6 8
time




-1.10*

-2¢10%}

-3¢10*

-5¢10*

-1.10*

-2010%}

-3¢10*

-5¢10*

LI LA L

Fault S
[Fault E

f Combined
Fdcps_auto

 Shot: 1465

T T T T T T

EIDL: Mean#

410}

I

14

T

-

an4

| ja

farts: -0.49039538!
nds: 0.50080193

\Vertical Forces

aram. Tree 142

-46675.255

ee (normal, circular)

-46675.255

ol o by v by vy by v by s by g ba g o

TT [T T[T rr[rrrrrr

-4 -2 0 2 4 6 8

time

LI LA L

Fault S
[Fault E

f Combined
Fdcps_auto

 Shot: 1465

T T T T T T

EIDL: Mean#

410}

I

BE

farts: -0.48979633!
nds: 0.50040212 ]

\Vertical Forces

aram. Tree 142
13882.155

2e (post. dis., circ.)

N= -43882.156

/AN ENEN TS EYETETE B A S BTSN STETEE SrET i TR

TT [T T[T rr[rrrrrr

il BT E R S

-4 -2 0 2 4 6 8

time

-1.10*

-2010%}

-3¢10*

-5¢10*

-1.10*

22¢10%}

-3¢10*

-5¢10*

LI LA L

Fault S
[Fault E

ECombined

Fdcps_auto

T

/N TR A

 Shot: 1465[14
LIDL: Means -5
af

-4¢107

[DCPS: Mean4

nas: 0.50140248

\Vertical Forces
| ja
aram. Tree 142

1418.726

T

-

e¢e (normal, shaped)

-51418.727

]

| L L L L DL

farts: -0.49097145!

M EPETENE YR ET S T AT AT B R

4 -2

0 2 4 6 8
time

LI LA L

Fault S
[Fault E

f Combined
Fdcps_auto

 Shot: 1465

nas: 0.50080193

\Vertical Forces
| ja

14}/ Param. Tree 142

HIDL: Means -46981.202

-4010%}

| L L L L DL

farts: -0.49039538!

'F,, Fix the [Tree (post. dis., shaped.)
DCPS: Meqng 46081204\
5_2 g - ]
A PR EPRPENS EPUPETEN EPUPRTEN IR IR I
-4 -2 0 2 4 6 8

time



3.0+10"

2.5¢10*

2.0010%}

1.5¢10%

1.0-10*

5.0010°

3.0+10"

2.5¢10*

2.0010%}

1.5¢10%

1.0-10*

5.0010°

T T T

T T T

rCombined
:dcps_auto
| F,, Fix the

[24.8

' BT

[ Shot: 1465(14

[IDL: Mean=

rDCPS: Meq

L L B I DL DL LB BB

w

|

\Vertical Forces

| ja

Tree (normal, circular)

ue

Param. Tree 142

1692.032

31692.033 7

PN ETEN AN AV R TS AT AT AT AR

-4 -2 0 2 4 6 8

time

T T T

T T T

rCombined
:dcps_auto

[ Shot: 1465

| F,, Fix the

rDCPS: Mean-

[ 26.8

' BT

[IDL: Means 3

L L B I DL DL LB BB

NE
4

|

\Vertical Forces

Tree (post. dis., circ.)

Param. Tree 142

D062.560

30062.561 .

PN TR AN AV R TS AT AT AT AR

-4 -2 0 2 4 6 8

time

3.0+10"

2.5¢10*

2.0010%}

1.5¢10%

1.0-10*

5.0010°

3.0+10"

2.5¢10*

2.0010%}

1.5¢10%

1.0-10*

5.0010°

LI LA L

T T T

T T T

rCombined
:dcps_auto
| F,, Fix the

[ 25.8

' BT

[ Shot: 1465(14

[ IDL: Mean=

rDCPS: Meq

w

|

| ja

LEE:

ue

\Vertical Forces

5326.013

35326.013

PN ETEN AN AT RN TS AT AT AT AT A

TT [T T[T rr[rrrrrr

Param. Tree 142

re (normal, shaped)

-4 -2 0 2 4 6 8

time

T T T

T T T

rCombined
:dcps_auto

[ Shot: 1465

| F,, Fix the

FrDCPS: Mean-

[27.8

' BT

[IDL: Means 3

Ve
| ja
14

LEE:

-IIIIIIIIIIIIIIIIIIIIIII

rtical Forces

1316.377

31316.379

|

Param. Tree 142

2e (post. dis., shaped.)

PN ETEN AN AT R TS VAT AT AR

LELEN L

-4 -2 0 2 4 6 8

time



7.10°F

6010

5¢10*

410%

3¢10%}

2¢10%

10¢10°

-3.102},

7.10°F

6010

5¢10*

410%

3¢10%}

2¢10*

10¢10°

3102},

ult S
Fault E

[a

N(

rts: -0.49159554;

Is: 0.50220388

E_Combined
édcps_auto

 Shot: 1465

[F,, Fix the

FDCPS: Mead

E_IDL: Mean#

Ve

3 63111.087 ‘

rtical Forces

aram. Tree 142
3111.085

be (normal, circular)

..I...I...I...I...E
2 4 6 8
time

Fault E

E_Combined
édcps_auto

 Shot: 1465

[F,, Fix the

FDCPS: Mead

ult Starts: -0.49139598:

E_IDL: Mean#

N(

I1s: 0.50180268

Ve

| ja

Tré

Uk

rtical Forces
aram. Tree 142

D015.709

be (post. dis., circ.)

60015.710 ‘

..I...I...I...I...E
2 4 6 8
time

7.10°F

6010

5¢10*

410%

3¢10*

2¢10%

10¢10°

3102},

7410* pr T

6010

5¢10*

410%

3¢10*

2¢10%

10¢10°

-3.102},

Fault E

S
ult Stgrts

N(

: -0.49217389]

Is: 0.50260258

E_Combined

édcps_auto

[F,, Fix the

FDCPS: Mead

 Shot: 1465014

E_IDL: Mean#

Ve

3 67945.995 ‘

rtical Forces

aram. Tree 142
7945.993

be (normal, shaped)

..I...I...I...I...E
2 4 6 8
time

La

N(

rts: -0.49159554;
Is: 0.50220388

E_Combined
édcps_auto

 Shot: 1465

[F,, Fix the

FDCPS: Mead

E_IDL: Mean#

Ve

F 63537.192 ‘

rtical Forces
aram. Tree 142
3537.190

be (post. dis., shaped.)

..I...I...I...I...E
2 4 6 8
time



6000

4000

2000

6000

4000

2000

T

_Combined
Ldcps_auto
rShot: 1465
F,, Fix the
| DCPS: Meg

r24.10

L L B I DL DL LB BB

\Vertical Forces
| ja
4

-IDL: Mean=

(o2}

-

ee (normal, circular)

ue

' BT

Param. Tree 142

D29.4141

6929.4155

PN ETEN AN AT R TS VAT AT AT A

-4 -2 0 2 4 6 8

time

T

r26.10

' BT

L L B I DL DL LB BB

-_Combined Ve
Ldcps_auto| |8
rShot: 1465[14
[ IDL: Mean3
_FZ, Fix the [Tré

| DCPS: Mean-

rtical Forces

Param. Tree 142
?08.5276
2e (post. dis., circ.)

5208.5285

PN ETEN AN AT RN TS T AT AT AT A

-4 -2 0 2 4 6 8

time

6000

4000

2000

6000

4000

2000

T

| Combined
Ldcps_auto

'Shot: 1465

T

F,, Fix the
| DCPS: Medg

r25.10

L L B I DL DL LB BB

\Vertical Forces
| ja
4

-IDL: Mean=

(o2}

-

ee (normal, shaped)

ue

' BT

Param. Tree 142

524.6246

6524.6260

PN TR AN TR AT S T AT AT AT A

-4 -2 0 2 4 6 8

time

T

r27.10

' BT

L L B I DL DL LB BB

-_Combined M&rtical Forces
Ldcps_auto| |4
rShot: 1465[14
[ IDL: Mean3
_FZ, Fix the [Tre

| DCPS: Mean-

Param. Tree 142
81.8028
2e (post. dis., shaped.)

4281.8041

PN ETEN AN AT RN TS T AT AT AT A

-4 -2 0 2 4 6 8

time



L L B I DL DL LB BB L L B I DL DL LB BB

T
1
T

1.5¢10* 1.5¢10*

1

1.0'104 rCombined [Vertical Forces 1.0'104 rCombined [Vertical Forces -

| dcps_auto] j& ] | dcps_auto] j&
rShot: 1465[14) Param. Tree 142 1 rShot: 1465[14) Param. Tree 142
3| IDL: Mean= 16435.830 3| IDL: Mean= 16527.268
5.010° 1 5.010° .
tF,, Fix the [Tree (normal, circular) ; L F,, Fix the [Tree (normal, shaped)
| DCPS: Means 16435.831 1 | DCPS: Mean= 16527.269
124.11 | 125.11
Olllllllllllllllllllllllllll Olllllllllllllllllllllllllll
-4 -2 0 2 4 6 8 -4 -2 0 2 4 6 8
time time
_IIIIIIIIIIIIIIIIIIIllllllllll- _IIIIIIIIIIIIIIIIIIIllllllllll-
4 4
1.5¢107 1 1.5¢107t .
4 . . 4 . .
1.0¢10" Fcombined |Vetical Forces 1 1.010" Fcombined |Veltical Forces 1
| dcps_auto] j& ] | dcps_auto] j&
rShot: 1465[14) Param. Tree 142 1 rShot: 1465[14) Param. Tree 142
3| IDL: Mean= 16133.555 3| IDL: Mean= 16555.988
5.010° 1 5.010° .
LF,, Fix the [Tree (post. dis., circ.) ; +F,, Fix the [Tree (post. dis., shaped.)
| DCPS: Mean= 16133.555 1 | DCPS: Mean= 16555.988
126.11 | 127.11
Olllllllllllllllllllllllllll Olllllllllllllllllllllllllll
4 -2 0 2 4 6 8 4 -2 0 2 4 6 8

time time



-2.0+10%!

-4.0010°|

-6.0¢10%

-8.0+10*

-1.010°

-1.210°

-2.0+10%}

-4.0010°|

-6.0¢10%

-8.0-10*

-1.010°

-1.210°

rCombined

rdcps_auto

rShot: 1465

+F,, Fix the

124.12

HDL -Mean3

I DCPS: Mean4

| ja

14

\Vertical Forces

Param. Tree 142
+—109786.34
Tree (normal, circular)

-109786.

34

-4 -2 0 2 4 6 8

time

rCombined

rdcps_auto

rShot: 1465

HDL .-Meand

+F,, Fix the

E
4
—103897.86

Tré

126.12

tDCPS: Mear= -103897.87

\Vertical Forces

Param. Tree 142

re (post. dis., circ.)

-4 -2 0 2 4 6 8

time

-2.0+10%!

-4.0010°|

-6.0010%

-8.0+10*

-1.010°

-1.210°

-2.0+10%!

-4.0010°|

-6.0010%

-8.0+10*

-1.010°

-1.210°

rCombined

rdcps_auto

rShot: 1465

HDL :-Meand
+F,, Fix the

tDCPS: Meqg

125.12

14

| ja

—~119364.72
Tré

Uk

Vertical Forces

-119364.72

Param. Tree 142

e (normal, shaped)

ol by v Ty g by Loy by g 1y a0

-4 -2 0 2 4 6 8

time

rCombined

rdcps_auto
DL :-Mean-

+F,, Fix the

L27.12

| ja
rShot: 146514
-1
Tré

DCPS: Mean4

Vertical Forces

-110518.40

Param. Tree 142

be (post. dis., shaped.)

-4 -2 0 2 4 6 8

time



10000 |

5000 |

-5000

10000 |

5000 |

-5000

__Combined \Vertical Forces
[ dcps_auto| ja

rShot: 146514 Param. Tree 142

LIDL: Mean= 13017.693
:FZ, Fix the Tree (normal, circular)
| DCPS: Mean= 13017.693

r24.13

-4 -2 0 2 4 6 8
time

__Combined Vertical Forces
| dcps_auto_ja

rShot: 146514, Param. Tree 142

LIDL: Mean= -4970.8464
| F,, Fix the [Tree (post. dis., circ.)
| DCPS: Megns -4970.8461

r26.13

-4 -2 0 2 4 6 8
time

10000 |

5000 |

-5000

10000 |

5000 |

-5000

__Combined Vertical Forces
[ dcps_auto| ja

rShot: 1465[14) Param. Tree 142

LIDL: Mean=6121.4413
| F,, Fix the Tree (normal, shaped)
| DCPS: Mean= 6121.4416

r25.13

-4 -2 0 2 4 6 8
time

__Combined Vertical Forces
| dcps_auto_ja

rShot: 146514, Param. Tree 142

LIDL: Mean= -6743.8004
| F,, Fix the [Tree (post. dis., shaped.)
 DCPS: Megn3 -6743.7999

r27.13

-4 -2 0 2 4 6 8
time



-5.010°%

-1.0¢10%

-1.5.10*

-2.0¢10%

-5.0010°%

-1.0¢10%

-1.5.10*

-2.0¢10%

t Combined [Vertical Forces
rdcps_auto) ja .

Shot: 1465[14) Param. Tree 142

-5.010°%
-1.0¢10%
-1.5¢10%

-2.0¢10%

[IDL: Meanz -20530.923 ]
:FZ, Fix the [Tree (normal, circular)
| DCPS: Mean4 -20530.924
F24.14
-IIIIIIIIIIIIIIIIIIIIIIIIIIIII-
-4 -2 0 2 4 6 8
time

:Combined Vertical Forces
-dcps_autoJa .
:Shot: 146514, Param. Tree 142
[IDL: Mean= 2202.4773

:FZ, Fix the Tree (post. dis., circ.)
:DCPS: Mean= 2202.4766

r26.14

-4 -2 0 2 4 6 8
time

-5.010°%
-1.0¢10%
-1.5¢10%

-2.0¢10%

t Combined [Vertical Forces
rdcps_auto| |8 .

Shot: 1465[14| Param. Tree 142

[IDL: Mean=-14202.453
:FZ, Fix the Tree (normal, shaped)

L DCPS: Mean= -14202.454

r25.14

-4 -2 0 2 4 6 8
time

:Combined Vertical Forces
-dcps_autoJa .
:Shot: 146514, Param. Tree 142
[IDL: Mean= 4128.1737

:FZ, Fix the Tree (post. dis., shaped.)
:DCPS: Mean= 4128.1730

r27.14

-4 -2 0 2 4 6 8
time



-2000

-4000

-6000

-8000

-2000

-4000

-6000

-8000

LI LA L T

TT [T T[T rr[rrrrrr

T

_Combined \Vertical Forces
rdcps_auto) ja
| Shot: 1465[14| Param. Tree 142

_IDL: Meanz -1513.2302

-

tF,, Fix the [Tree (normal, circular)

| DCPS: Megn= -7513.2310

| 24.15

sl by by s by s by vy by a 1ya sy

-4 -2 0 2 4 6 8
time

LI LA L T

TT [T T[T rr[rrrrrr

T

-_Combined Vertical Forces
rdcps_auto_ja

| Shot: 146514, Param. Tree 142
-_IDL: Mean= -2768.3691

LF,, Fix the Tree (post. dis., circ.)
| DCPS: Mean= -2768.3695

| 26.15

sl by by s by s by vy by a 1ya sy

-4 -2 0 2 4 6 8
time

-2000

-4000

-6000

-8000

-2000

-4000

-6000

-8000

LI LA L T

TT [T T[T rr[rrrrrr

T

_Combined \Vertical Forces
rdcps_auto) ja
| Shot: 1465[14| Param. Tree 142

_IDL: Meanz -§081.0117

-

+F,, Fix the [Tree (normal, shaped)

| DCPS: Megn= -8081.0127

[ 25.15

sl by by s by s by vy by a1y ay

-4 -2 0 2 4 6 8
time

LI LA L T

TT [T T[T rr[rrrrrr

T

-_Combined Vertical Forces
rdcps_auto_ja

| Shot: 146514, Param. Tree 142
-_IDL: Mean= -2615.6267

tF,, Fix the Tree (post. dis., shaped.)
| DCPS: Mean= -2615.6269

| 27.15

sl by by s by s by vy by a 1ya sy

-4 -2 0 2 4 6 8
time



3.10%}

2410%!

1¢10*

-110*

3.10%}

2410%!

1¢10*

-1.10*

[ Combined [Vertical Forces
:_dcps_auto Lja

 Shot: 1465{L4] Param. Tree 142

FIDL: Mean= 3B548.616

[ F,, Fix the Tree (normal, circular)
f DCPS: Mean= 33548.617

24.16

-4 -2 0 2 4 6 8
time

ECombined Vertical Forces
:_dcps_autoJa
[ Shot: 146514, Param. Tree 142

IDL: Mean= -7173.3236

[ F,, Fix the [Tree (post. dis., circ.)
EDCPS: Mean= -7173.3226

[ 26.16

-4 -2 0 2 4 6 8
time

3.10%}

2:10%!

1¢10*

-110*

3.10%}

2410%!

1¢10*

-110*

[ Combined [Vertical Forces
:_dcps_auto Lja

[ Shot: 1465{L4] Param. Tree 142

[ IDL: Means 20323.894

[F,, Fix the Tree (normal, shaped)
f DCPS: Mean= 20323.896

[ 25.16

-4 -2 0 2 4 6 8
time

ECombined Vertical Forces
:_dcps_autoJa
 Shot: 146514, Param. Tree 142

FIDL: Mean= -10871.974

rF,, Fix the [Tree (post. dis., shaped.)
EDCPS: Mean= -10871.973

27.16

-4 -2 0 2 4 6 8
time



4000

2000

-2000

4000

2000

-2000

_Combined \Vertical Forces

dcps auto
T —_— p— )

rShot: 146514, Param. Tree 142

[ IDL: Mean= 3813.5384

-_FZ, Fix the Tree (normal, circular)
| DCPS: Mean= 3813.5381

r24.17

-4 -2 0 2 4 6 8
time

_Combined Vertical Forces

dcps auto |
T —_— —

rShot: 1465[14) Param. Tree 142

' IDL: Mean= -2188.4606

F,, Fix the [Tree (post. dis., circ.)
| DCPS: Mean=-2188.4607

r26.17

-4 -2 0 2 4 6 8
time

4000

2000

-2000

4000

2000

-2000

_Combined Vertical Forces

dcps auto
T —_— p— )

rShot: 146514, Param. Tree 142

[ IDL: Mean= 5208.3207

-_FZ, Fix the Tree (normal, shaped)
| DCPS: Mean= 5208.3204

r25.17

-4 -2 0 2 4 6 8
time

_Combined Vertical Forces

dcps auto |
T —_— —

rShot: 1465[14) Param. Tree 142
'IDL: Mean= -3155.6435
F,, Fix the [Tree (post. dis., shaped.)

| DCPS: Megn¥ -3155.6434

r27.17

-4 -2 0 2 4 6 8
time



6000 |
4000:

2000}

-2000

-4000

-6000

6000 |
4000:

2000}

-2000

-4000

-6000

:Combined \Vertical Forces

ldcps_auto_ja

| Shot: 146514, Param. Tree 142
[IDL: Mean= 5926.5994

:FZ, Fix the Tree (normal, circular)
| DCPS: Mean= 5926.5994

+24.18

-4 -2 0 2 4 6 8
time

:Combined Vertical Forces

ldcps_auto] j4
[ Shot: 146514 Param. Tree 142
[ IDL: Mean+ -4550.1447

LF,, Fix the [Tree (post. dis., circ.)

tDCPS: Means -4550.1445

+26.18

-4 -2 0 2 4 6 8
time

6000
4000:

2000}

-2000

-4000

-6000

6000 |
4000:

2000}

-2000

-4000

-6000

:Combined Vertical Forces

ldcps_auto) j

| Shot: 1465(14] Param. Tree 142
[ IDL: Mean=~2368.8326

:FZ, Fix the Tree (normal, shaped)
| DCPS: Mean= -2368.8323

+25.18

-4 -2 0 2 4 6 8
time

:Combined Vertical Forces

ldcps_auto) ja
| Shot: 1465(14] Param. Tree 142
[ IDL: Means -§653.1181

:FZ, Fix the [Tree (post. dis., shaped.)

tDCPS: Megn¥ -5653.1177

+27.18

-4 -2 0 2 4 6 8
time



3¢10*

2¢10*

3¢10*

2¢10*

110*

T T T T T T T T

:_Combined

| F,, Fix the

[24.19

' BT

[ DCPS: Mean3

L L B I DL DL LB BB

Vertical Forces

[dcps_auto_ja

[ Shot: 146514, Param. Tree 142

[IDL: Means 13100.003

1¢10%}

Tree (normal, circular)

13100.001

| P PR PSS YA AT AR

4 -2

0 2 4 6 8
time

LI LA L

T T T T T T T T

:_Combined
rdcps_auto
[ Shot: 1465

| F,, Fix the

[26.19

' BT

[ DCPS: Mean3

LI INLELINLE BRI LRI LR LR

\Vertical Forces
NE

14) Param. Tree 142

[IDL: Mean=s 3D597.267

Tree (post. dis., circ.)

30597.265

lllllllllllllllllll-

4 -2

0O 2 4 6 8
time

3¢10*

2¢10*

1¢10*

3¢10*

2¢10*

1¢10*

T T T T T T T T

[IDL: Mean=

[25.19

' BT

[dcps_auto] ja

[ Shot: 146514

N

-

[ F,, Fix the [T

[ DCPS: Mean3

L L B I DL DL LB BB

:_Combined \Vertical Forces

Param. Tree 142
3993.366
ee (normal, shaped)

28993.364

PN ETEN AN AV R TS VAT ATE AT A

-4 -2 0 2 4 6 8

time

T T T T T T T T

| F,, Fix the

[27.19

|

[dcps_auto] ja
[ Shot: 146514

[IDL: Mean= 3

[ DCPS: Mean3

L L B I DL DL LB BB

:_Combined \Vertical Forces

Param. Tree 142

5020.424

Tree (post. dis., shaped.)

35020.422

PN ETEN AN VR TS AT AT AT AR

-4 -2 0 2 4 6 8

time




2000

2000}

0| A

-2000 , _ . -2000 , _
rCombined [Vertical Forces 1 rCombined Vertical Forces
'dcps_auto] ja ] 'dcps_auto_ja
-4000+ . -4000 |
| Shot: 1465[14) Param. Tree 142 ] | Shot: 146514, Param. Tree 142
6000 HDL: Means -9204.1544 1 -6000 POL: Mean=-913.12056
rF,, Fix the [Tree (normal, circular) 1 rF,, Fix the Tree (normal, shaped)
-8000 [DCPS: Means -9204.1548 I -8000 [DCPS: Mean=-913.12114
[24.20 — ] [ 25.20
-1000O_IIIIIIIIIIIIIIIIIIIIIIIIIIIII_ -1000O_IIIIIIIIIIIIIIIIIIIIIIIIIIIII
-4 -2 0 2 4 6 8 -4 -2 0 2 4 6 8
time time
2000+ . 2000+
0 0
-2000 , _ . -2000 , _
rCombined Vertical Forces 1 rCombined Vertical Forces
'dcps_auto_ja 1 dcps_auto_ja
-4000 (P20 1 -4000 P2
| Shot: 146514, Param. Tree 142 ] | Shot: 146514, Param. Tree 142
6000 HDL: Mean= 2782 3858 1 -6000 PDL: Mean= 3588.1569
rF,, Fix the Tree (post. dis., circ.) 1 rF,, Fix the Tree (post. dis., shaped.) 1
-8000 [pcps: Mean= 2782.3853 1  -8000 [pcps: Mean= 3588.1565
[26.20 ] [27.20
-1000O_IIIIIIIIIIIIIIIIIIIIIIIIIIIII_ -1000O_IIIIIIIIIIIIIIIIIIIIIIIIIIIII
4 -2 0 2 4 6 8 4 -2 0 2 4 6 8

time time



-5.0010°%

-1.0+10}

-1.510*

-2.0-10*

-2.5¢10*

-3.0¢10%

-5.0010°%}

-1.0+10}

-1.510*

-2.0-10*

-2.5¢10*

-3.0¢10%

| Combined Vertical Forces
;dcps_autoJa

| Shot: 146514, Param. Tree 142 ]
;IDL: Mean= -5768.5031 ]
-_FZ, Fix the Tree (normal, circular) -
EDCPS: Mean= -5768.5007 -

(04,21 ]

-4 -2 0 2 4 6 8
time

| Combined |Vertical Forces
rdcps_autol| j8

| Shot: 1465{14| Param. Tree 142 ]

:IDL: Meanz -24775.552

-FZ, Fix the Free (post. dis., circ.) ]
| DCPS: Mean= -24775.549

[06.21 ]

-4 -2 0 2 4 6 8
time

-5.0¢10°

-1.0¢10%

-1.510*

-2.0-10*

-2.5¢10*

-3.0¢10%

-5.0¢10°

-1.0¢10%

-1.510*

-2.0-10*

-2.5¢10*

-3.0¢10%

[ Combined
rdcps_auto

| Shot: 1465

[05.21

E
4

Vertical Forces

:IDL: Mean= -21654.851

| DCPS: Mean= -21654.848

Param. Tree 142

-_FZ, Fix the Tree (normal, shaped)

-4 -2 0 2 4 6 8

time

[ Combined
rdcps_auto

| Shot: 1465

LF,, Fix the
| DCPS: Med

(07,21

:IDL: Mean=

Ve
| ja
14

P

4

Tré

N4

rtical Forces

8898.893

-28898.891

Param. Tree 142

be (post. dis., shaped.)

-4 -2 0 2 4 6 8

time



LI LA L

T T T T T T T

-1000

[ Combined

-2000

[dcps_auto

[F,, Fix the

-3000 |

r24.22

[IDL: Mean=

:DCPS: Medg

[ Shot: 146514

s by by s by s by vy by oy by g

\Vertical Forces

iE ]

3277.5550
Tree (normal, circular)

N4

TT [T T[T rr[rrrrrr

Param. Tree 142

-3277.5553

-4 -2 0 2 4 6 8

time

LI LA L

—T T T T T T T T T

-1000

[ Combined

-2000

-3000

r26.22

TT [T T[T rr[rrrrrr

Ve

[dcps_auto_ja

EShot: 146514, Param. Tree 142
EIDL: Mean=-1767.7589

EFZ, Fix the Tree (post. dis., circ.)

[ DCPS: Mean=-1767.7592

s by by s by s by vy by oy by g

rtical Forces

-4 -2 0 2 4 6 8

time

-IIIIIIII T

T

-1000

[ Combined

-2000

[ Shot: 146514

[F,, Fix the

-3000 |

r25.22

\Vertical Forces

[dcps_auto] ja ]

[IDL: Meanz -3281.9531
Tree (normal, shaped)

:DCPS: Mean3

s by by s by s by vy by oy by g

TT [T T[T rr[rrrrrr

Param. Tree 142

-3281.9535

4 20

2 4 6 8
time

-IIIIIIII T

T

-1000

[ Combined [Ve

TT [T T[T rr[rrrrrr

rtical Forces

-2000

[dcps_auto| j&

[ Shot: 146514,
[IDL: Mean= -2064.9611

[ F,, Fix the Tree (post. dis., shaped.)

Param. Tree 142

-3000 |
[ DCPS: Mean=-2064.9612
r27.22
ol e by v by by byw o by o
4 -2 0 2 4 6 8

time



1.5¢10%|
1.0+10" |

5.0010%}

-5.0¢10°

-1.0-10*

1.5¢10%|
1.0+10" |

5.0010%}

__Combined Vertical Forces

-5.0¢10°

-1.0-10*

__Combined

Ldcps_auto

Ve

| ja

1 A4
I

rtical Forces

rIDL: Mean= 15130.754

' F,, Fix the Tree (normal, circular)

: DCPS: Mean= 15130.754

[24.23

-4 -2 0 2 4 6 8

time

:dcps_autoJa

14
=

rIDL: Mean=

I'F,, Fix the

:DCPS: Med

N

[ 26.23

332.5305

-7332.5298

Tree (post. dis., circ.)

-4 -2 0 2 4 6 8

time

1.5010%|
1.0+10" |

5.0010%}

__Combined Vertical Forces

-5.0¢10°

-1.010*

1.5010%|
1.0+10" |

5.0010%}

__Combined Vertical Forces

-5.0¢10°

-1.0-10*

:dcps_autoJa

het 1465& Param—Tree 142
rIDL: Mean= -1455.7120

I F,, Fix the Tree (normal, shaped)

:DCPS: Mean=-1455.7112

[ 25.23

-4 -2 0 2 4 6 8

time

:dcps_autoJa

14
e

rIDL: Mean=

I'F,, Fix the
[ DCPS: Me

[27.23

9241.2750

an5

-9241.2743

Tree (post. dis., shaped.)

-4 -2 0 2 4 6 8

time



1.410*

1.210*

1.0¢10%

8.0¢10°
6.0°10°
4.0010°

2.0°10°

1.410*

1.210*

1.0¢10%

8.0¢10°
6.0°10°
4.0010°

2.0:10°

'_Combined

:dcps_auto

rF,, Fix the

r24.24

[Shot: 146514

:IDL: Mean=

E

[09]

| DCPS: Medn3

(]
\Vertical Forces

Tre

D22.6002

8922.6002

Param. Tree 142

2e (normal, circular)

-4 -2 0 2 4 6 8

time

'_Combined
:dcps_auto
_‘Shot: 1465
rF,, Fix the
| DCPS: Med

r26.24

| IDL: Mean= 1

Ve
NE
14

Tre

N3

rtical Forces

3365.186

13365.185

Param. Tree 142

2e (post. dis., circ.)

-4 -2 0 2 4 6 8

time

1.410*
1.210*

1.0¢10%

8.0¢10°
6.0°10°
4.0010°

2.0°10°

1.410*

1.210*

1.0¢10%

8.0¢10°
6.0°10°
4.0010°

2.0:10°

'_Combined

:dcps_auto

rF,, Fix the

r25.24

[Shot: 1465[14

:IDL: Mean=

| DCPS: Med

8

M@ rtical Forces

E

Tree (normal, shaped)

ue

Param. Tree 142 ]

146.2559

8446.2559

-4 -2 0 2 4 6 8

time

'_Combined
:dcps_auto
_‘Shot: 1465
rF,, Fix the
| DCPS: Med

r27.24

14

[ IDL: Mean= 1

Vertical Forces

| ja

LEE:

e

Param. Tree 142 ]
3940.362
2e (post. dis., shaped.) 1

13940.361

-4 -2 0 2 4 6 8

time



-2.0:10°

-4.0:10°

-6.0:10°%}
:Combined

-8.0+10°

__dcps_auto

rShot: 1465

-1.0¢10%

-1.210*

-F,, Fix the

-1.4.10%}

24.25

| IDL: Mean=

\Vertical Forces
E
14| Param. Tree 142

-12263.042

Lwge (normal, circular)

| DCPS: Mean= -12263.042

-4

Lo o by by v by v byw g by wy
2 0 2 4 6 8

time

-2.0:10°

-4.0:10°

-6.0:10°}
:Combined

-8.0+10°

__dcps_auto
rShot: 1465

-1.0¢10%

-1.2¢10%

-F,, Fix the

| IDL: Mean=

\Vertical Forces
NE
14 Param. Tree 142
-13377.462

Tree (post. dis., circ.)

| DCPS: Med

-1.4.10%}

r26.25

Wawr -13377.461

-4

Lo o by by v by v byw g by wy
2 0 2 4 6 8

time

-2.0410°

-4.0:10°

-6.0:10°|

-8.0+10°
-1.010*
-1.210*

-1.410*

-2.0:10°

-4.0:10°

-6.0:10°|

-8.0+10°
-1.010*
-1.2¢10%

-1.410*

rCombined
__dcps_auto
rShot: 1465

| IDL: Mean+

r25.25

Ve
E
14

rtical Forces

Param. Tree 142

e 0843.192
-F,, Fix the Tree (normal, shaped)

| DCPS: Mean=-10843.193

Lo o by by v by v byw g by wy
-4 -2 0 2 4 6 8

time

rCombined
__dcps_auto

rShot: 1465

| IDL: Mean=

-F,, Fix the

| DCPS: Med

Ve
| ja
14
-1

Tré

r27.25

rtical Forces

Param. Tree 142
3940.362
be (post. dis., shaped.)

-13940.361

PPN AT PP IR TP B
4 -2 0 2 4 6 8

time



